

## Discussion 8.1

$$\textcircled{11} \int \tan^{-1} y \, dy$$

$$u = \tan^{-1} y$$

$$dv = dy$$

$$du = \frac{dy}{1+y^2}$$

$$v = y$$

$$= \int u \, dv$$

$$= uv - \int v \, du$$

$$= y \tan^{-1} y - \int \frac{y}{1+y^2} \, dy$$

$$= y \tan^{-1} y - \frac{1}{2} \int \frac{2y}{1+y^2} \, dy$$

$$= y \tan^{-1} y - \frac{1}{2} \ln(1+y^2) + C, \quad |1+y^2| = 1+y^2$$

$$\textcircled{25} \int e^{\sqrt{3s+9}} \, ds$$

$$u = \sqrt{3s+9}$$

$$\frac{2}{3} \int e^u u \, du$$

$$u^2 = 3s+9$$

$$2u \, du = 3 \, ds$$

$$\frac{2}{3} \left[ u e^u - e^u \right] + C$$

$$\frac{2}{3} u \, du = ds$$

$$\frac{2}{3} \left[ \sqrt{3s+9} e^{\sqrt{3s+9}} - e^{\sqrt{3s+9}} \right] + C$$

$$\begin{array}{ccc} u & & e^u \\ & \searrow (+) & \\ 1 & & e^1 \\ & \searrow (-) & \\ 0 & & e^0 \end{array}$$